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SOLUTION	TO	EXERCISES	SECTION	1	

1.	 Select the term from the list provided that best matches each of the following descriptions. The first is 
done for you. 
 

   	
	

	

2.	 Select the term from the list provided that best matches each of the following descriptions. The first is 
done for you. 
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3.	 The Giga Company produces tablet computers. The following information is provided: 
 

   
 
Required:  
 
Classify each of the company's costs as a period cost (general, selling, and administrative cost) or as a 
direct or indirect product cost. Enter the dollar amount of the cost in the appropriate column. After 
entering all amounts, calculate the total general, selling, and administrative cost, the total direct product 
cost, and the total indirect product cost. 
 
 	
Answers will vary 
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4.	 Reno Company provided the following information regarding its operations for the month ending 
September 30, 2013: 
 

   
 
Required:  
 
1) Compute the firm's total manufacturing overhead cost. 
2) Prepare a schedule of inventory costs that shows total product costs, ending inventory, and cost of 
goods sold; and 
3) Prepare an income statement for the month ending September 30, 2013.  
  
	

Answers will vary 
 
Feedback: 1) Total manufacturing overhead cost: 
 

   
 
2) Schedule of inventory costs: 
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3) Income statement: 
 

   

	

	

5.	 Arizona Company provided the following information regarding its most recent year of operations: 
 

   
 
Required:  
 
Determine the following amounts: 
 
(a) Total product costs 
(b) Total upstream costs 
(c) Total downstream costs 
(d) Product cost per unit 
(e) Total cost per unit, including product costs and upstream and downstream costs 
(f) The selling price per unit that would be required if the company wishes to earn a profit margin 
equal to 25% of total cost 
(g) Comment on the company's profitability at its current selling price  
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Answers will vary 
 
Feedback: (a) Total product costs: 
 

   
 
(b) Total upstream costs: 
 

   
 
(c) Total downstream costs: 
 

   
 
(d) Total product cost per unit: 
 
Total product costs/units produced = $164,000/20,000 = $8.20 per unit 
 
(e) Total cost per unit: 
 
Total costs/units produced = $376,000/20,000 = $18.80 per unit 
 
(f) Selling price to earn a profit margin equal to 25% of total cost: 
 
Total unit cost + (total unit cost times profit margin) = $18.80 + ($18.80 × 25%) = $23.50 per unit 
 
(g) Current profitability: 
 
The company's current selling price of $20.50 ($410,000/20,000 units) covers the product costs and 
the upstream and downstream costs, but it does not provide the amount of profit that the company 
would like to earn. Instead of generating a profit margin of 25% of total costs, it is earning a profit 
margin of approximately 9% of total costs. 
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6.	 The Jacobson Manufacturing Company was started at the beginning of the current year when it 
acquired $200,000 from its owners. During the year, the company incurred the following costs, all for 
cash: 
 

   
 
The company produced 10,000 units of product and sold 8,000 units. The average selling price was 
$34 per unit; all sales were for cash. The accountant who prepared the firm's financial statements 
misclassified the selling and administrative costs as product costs. 
 
Required:  
 
Demonstrate the impact of the error on the company's income statement and balance sheet by 
completing the following schedule: 	

Answers will vary 
 

  	

	


